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Ques # :1

Which one of the following iso-electronic ions has lowest value of ionization energy ?

b Ca++
2)
K*
3) _
Cl
4)
S
T aRgATeT 3Tl & Tad HH AT 397 [Fah! gt 2
D C ++
d
DK
3) -
Cl
4)
'S

Ques # :2

Which of the following molecules has linear structure ?

Y BeCl,



»BCls

Y ccl,

Y CHCl;

forer & & forer 3oy iy e Yy gl 2
b BeCl,

2 BCl;

Y CCl,
4 CHCl,

Ques # :3

Co-ordination number of Coin[Co(en),Br,| is:

1) 2
2) 4
3) 6
4) 8

[Co(en),Br,] # Co FTr GH=aT TEAT § .
!
2
3)
4)

0N A~

Ques # 4

Chlorophyll contains which of the following metals :
1) Na



2) Mg
3) Ni
4) Cu

fort a3t & & e @ g FARe F sufPya giare 2
1) Na
2) Mg
3) Ni
4) Cu
Ques # :5

Which of the following ion will have maximum magnetic moment :-

D Cr.+++

2) Fe++

3) Fe+++

4) CO++

fower & & FFw 3T 1 TEahIT ITYOT HTAFHAH g -
D Cr"“

2) Fe++
3) Fe+++
4) CO++

Ques # :6



Which of the following is not a t, 4 orbital :

1) dxy
2) dyz
3) dxz
4) dx2-y?

7T & & *ler @1 t,, HeTh A § -

1) dxy

2) dyz

3) dxz

4) d }{2-‘,’2
Ques # 7

According to VSEPR theory the geometry of H,0 is :

1) Linear

2) V - Shaped
3) Tetrahedral
4) Pyramidal

VSEPR fguid & 3@R H,O & sanfafa g
D eei)

2) V - T
3) TISHADIT
4) fas
Ques # :8

Inert pair effect is maximum in :



1) N
2) P
3) As
4) Bi

HfFT-gaaeT gorma rftraas o  gham
1) N
2) P
3)  As
4) Bi

Ques # :9

Borazole is :

D ByHe

2 BgH10
3)53N3H5
Y BH50;
ST

D ByHg

2) BgH1o
3)53N3H5
4 BH;0;

Ques # :10

On the basis of Molecular Orbital Theory the bond order in CO is :
1) 0



2) 1
3 2
4) 3

3] FaTF AT F IMURRWCOATTFA G :
) 0
2) 1
3) 2
4) 3

Ques # :11

The basic structural unit of silicate mineral is

D SiO,
DSi05]%
V1Si0,]*
4) Si

fafode afas 6 Aersg G das ¥
D SiO;

D [Si05]%

N Si0,]*
4) Si

Ques # :12

Which of the following is the strongest acid ?

D H,504
2) HCIO4



3 HNO;

4) HCI

T A A FlFET IFA YeAdH & 2
1) H,50,

2) HCIO4

3) HNO;

4) HCI

Ques # :13

Which of the following is an aprotic solvent ?

HH,0
2) HF

¥ C,HsOH
Y CeHe

T 7 @ i a1 Res 3mfew £
1) H,0

2) HF

3) C,HsOH

Y CgHg

Ques # :14

In which of the following compounds K-band appears
1) Benzene

2) Butadiene

3) Mesityl oxide



4) All of these

AT P alfe A KAz ywmcglars ?
D) s

?) sTeTeTg

3) Adlierge Jfeass
4) s A s

Ques # :15

One the basis of Mossbauer Spectra the n-bonding abilities of the following ligand is maximum ?
1) CO

2 NHj

3) CN-

Y50,

AFER TFET & IMUR W, A7 7 ¥ F7 vz i 1 - deer a7ear srfQwasw ghefr 2

1) CO
2) NH,

3 CN-
Y 50,7

Ques # :16

Which of the following gas has maximum thermal conductivity ?

D H,
2) N,



3) CO,

4) Ne

T F ¥ 57 3w Y ardr arawar iIRFaa N & 2

Ques # :17

Zeise's Salt is :

) (CsHs),Fe
YK[PtCl;(C,HY)]
Y [(CeHg)ICr

Y Na[V(C0)]
Sg Jaqor g :

D (CsHs)yFe

DK [PtCly(CoH,)]
) [(CeHg),]Cr

Y Na[V(CO),]

Ques # :18



Which of the following is a mixed organometallic compound ?

VPb(CH;),

? AEE (CHS )6
INI(CO),
Y(CH3),5nCl,

foret & & wher A AT Feafeas ¥ -
Dpb(CH;),

2 Al (CH3),

3)Ni(CO),

Y (CH3),5nCl,

Ques # :19

The emission of a beta particle from the nucleus of a radioactive element raises the positive charge by :
1) 1
2) 2
3) 3
4) 4

fanelt M3 TFeT aeca it Ml & va dieT FT F 3wl @ UaTcHF 3T & Y gl
n o1

2) 2
3 3
4 4



Ques # :20

What is the product of nuclear fission when U?3®

emits an alpha particle ?

1) Neptunium
2) Plutonium
3) Protactinium
4) Thorium

Afahra BEvsa BT & 59 UBSTE oW ST Scafad
HIM dr 3TAG FAT EIE?

1) AugfaTH
2) AT DE)
3) e e feraes
4) AMRETH

Ques # :21

Rutile is an ore of :
1) Ti
2) Pt
3) Ni
4) Cr

TEETSd U 3ATH &
1) Ti
2) Pt
3) Ni
4) Cr



Ques # :22

The compound which exhibits Jahn-Teller distortion is -
Y (Mn(H,0)6]™"

Y [Mn(Hy0)e]
V[Cr(Hy0)6]™ "

Y [Fe(CN)6]*

foreer 7 a7 o St ST sty g
) (Mn(H,0)6]™"

2 [Mn(Hy0)6]"
V[Cr(Hy0)6]™

Y [Fe(CN)g]*

Ques # :23

The shape of the molecule Xe,O3F; is :

1) Trigonal Bipyramidal
2) Distorted Tetrahedral
3) Square Planar

4) Tetrahedral

XEQOQFQ Eﬁ- 3“3:’% E:l?ﬂ- :
D Preemer gfafwfas

D) faFd awaha




3)  getEAdeT
1) FaHaRT

S

Ques # :24

The total number of metal-metal bonds in
Ru3(CO)1; and Coy4(CO)4,, respectively is :

1) 3 and 4
2) 3 and 6
3) 4 and 5
4) 2 and 4

RU3(CO)12 3ﬂT CD4(CO)12 ﬂ- ﬂ@-u@
& "L Sl T I T&AT hadl: § -
1) 334

2) 336
3) 43R5
4) 23R4
Ques # :25

Vitamin B-12 contains :
1) Fe
2) Co
3) Ni
4) Mg

Rerfas B-12 A 39fua



1) Fe
2) Co
3) Ni
4) Mg

Ques # :26

The ratio of the number of moles consumed in the process and number of photons absorbed by it is called :
1) Photon Energy

2) Photon Density

3) Quantum Yield

4) Einsteins

YA A TN AT Fr T 4T FTNRT BT T TEAT 7 AT Fglldl o -
D wreret Fa
2) BN Teled
3) Fates afsy

) argEde

Ques # 27
Among the following complex species the one which is EPR active is :
D Ni(CO)s

2[Co(NH3)sCl ]

V[Cu(Cy04),]"

4 Mo(CO)s

ﬁmﬁgmtcﬁeﬁsr#aga’rEPRafaﬂr%:
1)



Ni(CO),
2) [CD(NH3)5C| ]++
Y [Cu(C,04),]~
4 Mo(CO)s

Ques # :28

Which one is not used as radioactive isotope for Mossbauer effect:

D Ees?

2 Zn®7

3)
gnMe
4) p31

AF T A ¥ [ EaviFea gavafas &1 3939 A9aR y9 & J81 fonar simar :
1) Fe57

2) 7n57

3) sn™e

4) P31

Ques # :29

The gas which is filled in electric bulb is :-
1) He
2) Ne
3) Ar



4) Rn

Rgasea Ao aedae:
1) He
2) Ne
3) Ar
4) Rn

Ques # :30

AgCl s soluble in ammonia due to the formation of :

b Ag(NH,)Cl
2 [Ag(NH3),]Cl
3 AgNH,

Y NH4[AgCI(NH,)]

FAAAT F AgCl F Golet FT FROT T FT a1 3 :
1) Ag(NH)Cl

2) [Ag(NH3z),]Cl
3) AgNH,;

¥ NH4[AgCI(NH,)]

Ques # :31

Inorganic Graphite is :
1
' B3N3He

2) B3N3
3)



SiC
Y Pp,S;

mﬂﬁa:m%
) B3N3Hg

2) B3N3

3) SiC

Y P,S;

Ques # :32

The eigen function for an electron is :
1) A molecular orbital

2) An atomic orbital

3) Simple Wave Representation

4) All Values of W

UF FAAFeiel & AT Belel g :
D) e 3roreates

2) Ueh GTHTUTET FHaTh

3) el aaT fArwqoT
UBUE-E- -

Ques # :33
In V* W of Schrodinger wave equation for a particle,whose motion is

described by three space co-ordinates, V2 is known by which of the

following operators?



1) Zero Operator

2) Laplacian Operator

3) Hermition Operator

4) Homogenous Operator

& For forgehr oifa e faw Adersr gamr afora & arelr ¢
& o SEeo ader 98T & Vi # V2 e 7 O &l ar
HhRE Faeldl & ?

D radeRs

2) YR §ERE

3 A deRe

4 AN dERS

Ques # :34

Out of the following complex ions which is not obeying Effective Atomic Number Rule:
Y [PtV(NH3)]*

» [FeT(CN)e]*

Y [Fel(CN)e]*

Y [PtY(NHz)4]**

o 3 @ heraT e T AT 10y T Rygier o7t qeita -

1) [Pt'”(NHg)q]“*

” [Fe™(CN)e]

3 [FeT(CN)e]*
4 [PtI(NH3)4]*



Ques # :35

The Valence bond theory is proposed by whom of the following :
1) L. Pauling and J.L. Slater

2) Werner

3) Hans Brethe and J. Van Vleck

4) L. Orgel

FArerhar ot T faee 7 @ frad qarr wfaarfee far o
D) uer, arafafer 3iR 3 ver. Taex

2) g%

3) =g 9A IS, aIT cF

4) wer, 3t

Ques # :36

The magnetic moment of [MnBry]* is 5.9 B.M. . What is the

hybridisation of Mn from the following :

1) Sp3
2) dsp2
3) spzd

4) Distorted spzd

[MnBr,]* % gFaehra gOT & AT 5.9 BM. 8 | 38 §Fal H

Mn SRT THIOT FAT BIIT ?
1)




sp
2) dsp>
3) sp2d

Ques # :37

Which one of the following is the octahedral inner orbital complex ion ?
" [Fe™(CN)e]*

Y [Fe™(H,0)6]**

¥ [Fe™ Fe]*

K [Fell(H,0)s]*

foest 7 @ FleT W1 TANF FaTh HTHARIT el AT § 2
Y [Fel(CN)gJ>

2 [Fe(H,0)e]3"

3 [Fe™ Fg]*

Y [Fe(H,0)¢]**

Ques # :38

With which of the following water will act as a base ?

1)



NH3
2) HCI
3) CoHsO
YCc05% ion

AT & ¥ TS T I 8T & T & H1F HI9W 2
) NH;

2) HCI

3) CoHsO

4 COz% I

Ques # :39

In nature Mg, Ca and Al exist as carbonate metal ores and not as metal sulphide ores due to one of the following acid base priciples :
1) BroSnsted Laury Concept

2) Arrhenius Theory

3) Pearson Principle of SHAB

4) Usanovic Principle

fovet 3 & Rt v RAGTA & FROT Mg, Ca T Al & Wi  Frafae arq 3raes ffea ¢ 7 fF 41 wonmss e -
D) sreges oty srgemon

2) 3Ty i

3) RrEeT &1 FOR Tad Jg (SHAB) 3 &TR fagid

4) garTaT Rgia

Ques # :40

In 1849 Edward Frankland prepared an oraganometallic compund which is known as Frankland reagent, which is the one from following :



b (C2H5]2Mg

2)(C3H5)22n

3) (C3Hs),Cd

4) (C2H5)2CE\

1849 H USTS $hels of Th HIaeTfcad AIfAF T oA hehos IPFAF FAH A T AATE a8 AT A T Flaar g :
D (C2H5)2Mg

2)(C2H5)QZH
3) (C,Hs).Cd
4) (C2H5)2CE

Ques # 41

Lithium oraganometalliccompound reacts with ammonia

giving very fast one of the following with LINH

1) Alkenes
2) Alkanes
3) Alkyne

4) Alcohol

FafarIgd I smAfaar 9 Far s dgar @

LINH, s g T A A i@ Th cad & ?
) Tl
2) TodheT
3) ToFTET



4) Uohigiel

Ques # :42
Waterglass which is soluble in water is one of the following :
D a?* and Mg2+ silicates
2) Na* and K" silicates
3) Be?* and AP silicates

4) Mg?* and Fe?" silicates

el HId At STl A gererefier 8, AT A A vw 3
D aP* 3R mg?* [afershed

JNa* AR K* Afched

3 ge?* 3T AP fafadeT

Y Mgt 3R Fe?t TaTadeH

Ques # :43

The exact molecular weight can be determined by :
1) IR-Spectroscopy

2) UV-VIS-Spectroscopy

3) Mass Spectroscopy

4) NMR-Spectroscopy

frelt aeTe 1 FEY oI AT R ST |
D R-wFarfafa

2) UV-VIS-SeraIfafa
3)



Mass TIFCI AT
4) NMR-E9FaIfafa

Ques # :44

Marshall Acid is :
Y H,50,

2) H,S,0s

3 H,50;

Y H,S0s

AT IFAT R :
D H,50,
2) H,S,0g
3) H,S0;
Y H,S05

Ques # :45

The highest oxidation state shown by rhenium is :-
1) +5
2) +6
3) +7
4) 48

Refaas Y 3=aaa rerdiaIor saeaT g & :-
1) +5



2)  +6

3) +7
4) 48
Ques # :46

Bhopal Gas Tragedy is a case of :
1) Thermal Pollution

2) Air Pollution

3) Nuclear Pollution

4) Soil Pollution

$TTTer 3 ATHEY FT FROTE
D) ardrer gegor

2) arg ST
ﬂaﬁmﬁumﬁw

Y et yguor

Ques # :47

XeFson complete hydrolysis gives :
D )(E'Og

2) XeO»
3) XeOF,
4) Xe

XeFsh qUI SToI3fquce ¥ 9Icd gIem :
1) ){E‘Og
2) )(E'Og



3) XEOFq
4) Xe

Ques # :48

BOD of river is high, it means river is :

1) Very much polluted with inorganic chemicals.

2) Very much polluted with organic chemical which are decomposed by micro organisms
3) Polluted with Pesticides

4) Not Polluted

fordY 1<y ST BOD 31 &, 301 37 § 6 1<) :-

D sreprafares varas & sgd Jiftes sqfia §
2)mﬁ$mﬂ@a§3mmﬁa%w%m@#aﬁﬁm@%ﬂﬁ?ﬁaﬁ%
3) afFearss O ygNa §

?) et 7 &

Ques # :49

The metal extracted from sea water is :
1) Mg

2) Al

3) Ba

4) Ca

AN ol A frsepiie v s arem ang € 2
1) Mg
2) Al
3) Ba
4) Ca



Ques # :50

Fertilizer having the highest nitrogen percentage is :
1) Calcium Cyanide

2) Urea

3) Ammonium Nitrate

4) Ammonium Sulphate

IR TR AT A gfaerd AT AVFaT R
1) &feeras grearss

2) g

3) 3AfaTH AEee

4 rfagH gethe

Ques # :51

The decrease in the value of molar extinction coefficient of an absorption band due to substitution in a molecule is called :
1) Bathochromic Shift

2) Hypochromic Shift

3) Hypsochromic Shift

4) Hyperchromic Shift

farelt 3107 & g & wfawyTaeT & FRor sraeivoer &5 & AreR AT qonw F AT F IS FA A FEA L :
D) guifcmdt faeama=

2) grediifae faeamae

3) e AT

4) greeRIAS faTemde

Ques # :52

Which of the following vibrations is of the highest energy requirement ?



1) Symmetric Stretching
2) Asymmetric Stretching
3) Twisting

4) Wagging

INfATRT & & FH FoueT H R 371w FAT A sraegFargdr g 2
D) gafara gerat

2) 3rgAfAT detet

3) caradt

4) e

Ques # :53

Which compound gives more than one signal in its '"H NMR Spectrum :

D C(CH3),
) CH;0CH;

) CHg—E—CHg
¥ CH3CO,CH;

Fierar 1A% 'H NMR Vaeq # v & 30« ga= &are
D C(CH3),
» CH;0CH;

3)



cm-gm3

Y CH3CO,CH;

Ques # :54

R-H+X, — Y2+ RX +H-X

The intermediate formed in the above reaction

can be asertained with the help of :

1) Mass Spectrometry

2) Mossbauer Spectroscopy

3) Electro Spin Resonance Spectroscopy

4) Nuclear Magnetic Resonance Spectroscopy

R-H + X, — 1Y R-X +H-X
IqFd IAFIT & 999 I FEIF FY

fha depeller & AT T ST Gl & 2
D) gegame weef@fa

2) ArgER WA

3)  golrgle THUT HeTHAIG TIT AT

) e Trad JeIG Ta iR




Ques # :55

What is the pH of normal rain water ?
1) 43
2) 5.6
3) 7.0
4) 7.5

HTHATT quT-STel ST pH FATE ?
1) 43
2) 5.6
3) 7.0
4) 1.5

Ques # :56

Which of the following gases is not a 'primary' green house gas ?

) CH,
> CO,
5 N,0
Y CFCs

enfaf@a & ¥ #ia {39 usady daeswdaadig 2
D CHy

2 CO,

3) N50

4 CFCs

Ques # :57



Which set of gases is the main cause of acid rain in atomsphere ?

b 502 and N02
2) CO, and NO,
3 502 and C02

YC0, and CO

AIIASH H I HT PleT W1 A< Il a8 T HET FROTE ?
D SO; 3Rk NO,

2 CO, 3R NO,

»S0, 3 CO,

4 CO, 31X CO

Ques # :58

The global warming is due to :
1) Heavy Rainfall
2) Decrease of CO; gas in air

3) Increase of CO; gas in air

4) Increase of tropospheric O3 gas

Tl QI FT FROTE :
D srcafares aut

2)ag A CO, 3| i Far
3) g & CO, ¥\ i i

1) R 05 3 Fr fassar



Ques # :59

What is the largest constituent of potato ?
1) Protein

2) Carbohydrate

3) Vitamin-A

4) Minerals

3Tl 7 T W1 3799 g9 AfAF AT AP :
1) g

2) Frefgrsge

3) fgerf@a-A

4) @ferst ergor

Ques # :60

John Napier is an inventor of :
1) Algorithm

2) Logarithm

3) Algebra

4) Trignometry

e AT 3w F ¢ :
D) veanftesn

) eregaToTs

3) frsreriorg

4) Beofafy

Ques # :61



The clock speed in microcomputer is measured in :
1) MHz

2) Bit

3) MIPs

4) MFLOPs

ATSHIFTYCT Y T3Y T A7 ATIT SATAT 3 :
D Muz &

2) Bit &

3) MIPs 3

4) MFLOPs #

Ques # :62

Which of the following is not a computer language ?
1) COBOL

2) FORTRAN

3) BASIC

4) WS

farafaf@a 7 & #la @ Feger framradi e 2
1) COBOL

2) FORTRAN

3) BASIC

4) WS

Ques # :63

Which property of a substance is measured in thermogravimetric analysis (TGA) ?
1) Change in temperature
2) Change in weight



3) Heat evolved or absorved
4) Heating Rate

YT FT FieT | 0T ATIHRIHSF [3eawor fafer (TGA) gary e fFrar srar @ 2
D) arg & aRada

2) iR aRade

3) 3SHT T 3cgai T GANTOT

4) qrae &X

Ques # :64

The common temperature detection devices used in DTA are :-
1) Thermocouples

2) Thermopiles

3) Thermistors

4) All of these

DTA & HATASS a1 HHAT giell 8 2
) - dege g

2) Ar9-degd aIsd

3) yfdfieex

4) mair

Ques # :65

Which radiations of electromagnetic spectrum is used in Mossbauer spectroscopy ?
1) Radiowaves

2) Microwaves

3) X-Rays

4) Gamma Rays



gAFCAITeH TAaeH F FioT @ IBvee Alaak WaedR A vgFagia e ?
DR ERIGEC
2) AT
3) werg-faoT
4) reAT-fRToT

Ques # :66

Which is not a photochemical reaction ?

1) Photosynthesis in plants

2) Conversion of cholesterol in our skin into vitamin D

3) Effect of thodopsin and iodospin in rhods and cones cells of our eyes
4) Conversion of starch into glucose in our stomach.

leT T yehrer TS ARTFAT AL E 2

1) qreat 7 yepTer Eeersor

2) gAY caaT H FrorEeil T [AeTAA-D # Fqraor

3) gATdY 3@t Y Az q2>T T MRS IR AT F2u1 3mAScdi= 1 vsa
1) gAR 9T &F T T To[ehE H FUTALOT

Ques # :67

Forensic scientists use the reaction of luminol to detect blood at crime scenes. It is an example of :
1) Phosphorescence

2) Fluorescence

3) Chemiluminescence

4) Intersystem Crossing

oY T W AR Sfarent & @R eqfAer ATATHAT 7 3TANT FIA §T G Y eI HIAT fFH ThHaA FT IEERUT§ ?
D) spediea



2) yfadifea
3) gt St
4) 3eRT I ST

Ques # :68

The phosphorescence spectrum of the excited species is due to :
1) Singlet to triplet transitions

2) Triplet to Single transitions

3) Electron Spin transitions

4) Nuclear Spin transitions

FEIEICT FAFEA 7 Secltora TrefisT wTee et § -
D) verep & e dpmoT @

2) e § Ueheh GHATT T

3) ZolargieT YTIshUT AT &

4) FITRPT TaHOT Gha0T F

Ques # :69

Sugarfree sweetner which has chlorine atoms in its structure :
1) Saccharin

2) Alitane

3) Sucralose

4) Aspartame

A Fellea, el FaaT & Fd WAL 1A :
D) s
2) vefre
3) g



4) vEaréA

Ques # :70

The term ' analyte' is used in TLC for the :
1) compound to be purified

2) solvent run in column

3) Adsorbent filled in column

4) Retention factor

TLC & U5 'faedsy 39ier fFar Sran g 2
1) 2}f3ren Torgent Qiers shamr @Y

2) eI TorgehT TIFH & STAAT HIJ &l
3) rfereid for e TaFer A s &

4) eIROT Teeh Y

Ques # :71

The term R; (Retention time) is used in :

1) Column Chromatography

2)  Thin Layer Chromatography

3) Gas Chromatography

4)  Ion Exchange Chromatography

gg R, (YROT &) SEJHATH &IdT & -
D Eer aviaws

2) g Rl gotergst

3) g goferae

4 3myer RAfAFET gvtaad



Ques # :72

Who got Nobel Prize for inventing partition and thin layer Chromatography ?
1) Paul J. Flory

2) D.H.R. Barton and O. Hassel

3) Arthur Harden and H. Von Euler Chelpin

4) A.J.P. Martin and R.L.M. Synge

fastIater o ATt FRASTRY i @it & o Rrae! Ade e A :
D o . welilY

2) &1 T 3. STET T 31, gHel

3) 3TN FTE T U, AN JeIl AT

1) . ). AfesT qur IR.U. wH. e

Ques # :73
i 1 T 1
_,.-z.-'-’ e " f L’ ) - *-.L-\\; ';__:'z/" x\‘l‘ L Ph y - x\\l‘
1 i ‘ + .- ‘
E—

“ ‘ {HED} \\ 'Illrlr "1__--_]:'1:1 [-" ‘1 + Lo, .l

'\"‘-x o "-._“._-F_"_..--f-'ll H;\._" ”___,- l'\x\_ \\:.{__”‘__,.- -L__h‘
Ph Ph Ph Pl T h

The above reactionis a :
1)  Photochemical isomerization
2)  Photochemical rearrangement
3)  Photochemical Reduction
4)  Photochemical oxidation



1 i i 1

.-.-,/" "'\__\\ f L’ . e o ‘.;fz/ -.H‘ ___—-P'h z;;.-:_z \\_‘x
el Lt +
E— !
|l ‘ (H-0) L ;"Zl'ﬂﬂph [\ 1 L
e | s NP TN,
Pi'l. PI:I Ph

3uera fAfhar § Ph
D) wres@Eews gAeadetor
D) weRES (e
3 wIeREw TTTd
1) wreFRE T

Ques # :74

On photolysis hexan-2-one gives propene and acetone. The process is known as :
1) Norrish type I process

2) Norrish type II process

3) Mc Lafferty rearrangement

4) Photochemical isomerizations

SFAA-2-3Te Yh1er ITTed R N auT QA AT e | SHIFA M Fed & -
D sie esa 1 wehe

2) ARY <39 11 Thd

3) A et qafdeare

1) Prern AT GATTIAR]

Ques # :75

In nature the principal decomposition product of DDT is :
1) Aldrin
2) Dieldrin



3) Chlordan
4) DDE

y&fa & DDT 1 A& e seurg § -
D ufega
2) srsufegs

3) Tt
4) DDE

Ques # :76

The energy produced in the Sun and stars is due to :
1) Nuclear Fusion

2) Nuclear Fission

3) Photochemical Reaction

4) Thermal Chemical Reaction

T4 T aARI H 3cTee Foll HTFROTE ?
D) anfarhr doreret

2) afaera fawse

3) geprer T iR

4) 3wt e sfRfear

Ques # :77

The nuclear radius of the nuclide $5Al is equal to :

1) 3 fm
2) 4.5 fm
3) 4 fm

4) 5 fm



13Al sgaeiiaes $r afdda B §

1) 3 fm
2) 4.5 fm
3) 4 fm
4) 5 fm
Ques # :78

13C and 12N are:

1) isotopes

2) isotones

3) isobars

4) isosters

B¢ qar 1N & :
D rsdew

2)  3edEes

3 rsENER

4 IrsaEEey

Ques # :79

After emission of a f-particle followed by a-particle

from 213Bi the number of neutrons in the atom is :-

1) 127
2) 128
3) 129



4) 130

*33B1 ¥ ww [-uiféshd duT Wadl a-uTiead
3cHO & dla WA # wggiad Hr qear grfr -

1) 127
2) 128
3) 129
4) 130
Ques # :80

'Fat man' relates to :
1) Pu-Bomb

2) U-Bomb

3) H-Bomb

4) Th-Bomb

'hE AT ﬁn:r#mﬁl?r% :
1) Pu-dH
JuaA
3) HaH
4) Th-eH

Ques # 81

The sqaure of standard deviation is called :
1) Variance

2) Precision

3) Regression

4) Relative Standard Deviation



ATl fATrelet &1 I3F FgaTaT g
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Ques # :82

Which of the following is not considered as determinate error ?
1) Operational Error

2) Additive Error

3) Proportional Error

4) Random Error

Rl # & #t o e 3R dt wrsh o ¥ -
) gl g

2) reess e

) grepenfas 3fe

4) arefeos 1T

Ques # :83

In which of the following numbers all zeros are significant ?
1) 0.0005
2) 0.0500
3) 50.000
4) 0.0050

foeer geanat & e A wsft rw Al 8 2
1) 0.0005



2) 0.0500
3) 50.000
4 0.0050

Ques # :84

Mathemetically the standard deviation is represented by :

JZ(xl—x)E

IO ITUR W A AT A YERidHa g 2

Y \/E(Xi—f)z
' N

2)
Jz(xi—fZ)
' N

3)




N

L(Xj*-x)
N

4)

Ques # :85

The electrons which contribute to isomer shift in Mossbauer spectroscopy are :
1) s-electrons
2) p-electrons
3) d-electrons
4) f-electrons

AtHaR TR & g ) FATTIN g # dhrer Frard 2
D s-gorergret
2) p-gorariet
3) d-gorreial
4) f-gorrelet

Ques # :86

The number of translational, rotational and vibrational

degrees of freedom in CO; are respectively

1) 23,4
2) 43,2
3) 32,4

4) 42,3



CO, # TACRUI, YUIhT AT Shifeleh Faciacl
Pr HIC HT daR HAAR &

1) 2,34
2) 4372
3) 3,24
4) 4273
Ques # :87

g — o transition occurs in:

1) L.R. region
2) Visible region
3) U.V. region
4) None of these

g— 0" GhAT EAT §

D R aF#

2 TsgaaH

3 uveaFH

D ATl
Ques # :88

Movement of nuclei is negligible during the time taken by the electronic transition, it is called :
1) Franck Condon Principle

2) Born Oppenheimer approximation

3) Lamberts - Beers Law



4) Huckel Approximation

SAFeiold AHAY & fAT 1T gy & Aiffew A afa v g 8, sa Fea @ :
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2) fet INUTRIS AT HiosTehesT

3) drat fae e

4) ghel HfoeTehcal

Ques # :89

The region extending from 380nm to 750nm is called :
1) Near U.V.

2) Quartz U.V.

3) LR.

4) Visible Region

380 nm ¥ 750 nm ST FT Fgd & :
Damuv,

2) Farést ULV.

3) LR.

1) T 8

Ques # :90

The most widely used flame in atomic absorption is :
1) Air-acetylene

2) Air Propane

3) Air coal gas

4) Oxyacetylene



YIATULRT 3TNYOT & HTAFHAT ITFRT & AT grell saATaAT & :
D arg-ofafechs
2) arg T

3) aRy-rert

4) 3y Afafee

Ques # 91

For general purposes up to 1000° C the

thermocouple recommended is :

1)  Copper Couple

2)  Paltinum Couple

3)  Chromel-Alumel Couple
4)  None of these

srefizifan aradela Joa Sit 1000° C aw

JATHICACRII WP Bl &
D agesrgew

2) L—aﬁ?l;rgm

3) SR Toggel 3
Y s aFSad
Ques # :92

The molecule which is IR inactive but Raman active is :

1

) N2
2) HCI
3)



S0,

4) Protein

3797 St 1T Wik YT s, IR, (IR) fAfSea @
DN,

2) HCI
35S0,
1) gréeT

Ques # :93

Which of the following statement is incorrect :

1) DTA curves are influenced by heating rate

2) Peak area decreases with increasing particle size
3) DTA curves are influenced by chart speed

4) Peak area does not depend on quantity of sample

ARl FaT T ¥ :

1) DTA Y@t ar9et a3 & wanfaa gl &

2) HUT TS o SeeT & AT RIER 817 Tedr g
3) DTA (@t =1€ & a1fy @ g gl &
4) e &7 yfdes AT 9T R g e &

Ques # :94

The full form of RIA is :
1) Radio Immuno Assay
2) Radio Immuno Analysis
3) Radio Isotope Analysis
4) None of these



RIA HTQUATHE :

D) Yfsat gogat

2) Yfsa sogat Cemfarfae
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Ques # :95

The ability of water to absorb hydrogen ions without significant pH change is called :
1) Acidity

2) Alkalinity

3) Neutrality

4) None of these

STl & BISSIT ATAA & HTAMYUT FIA Y FAdT A pH H W+ agTg ASL 1T, Fgaldr g
D) srecfar

2) eI

3) 3erefierar

1) T § PS A

Ques # :96

The quantum vyield of reaction 2HBr » Hy + Bryis:
1) 1.5

2) 1.0

3) 0.1

4) 2.0



rafaf@a sfafrar & sarea afsr &

2HBr — H; + Br;

1) 1.5
2) 1.0
3) 0.1
4) 2.0
Ques # :97

If a photochemical reaction has higher quantum yield than unity, it indicates
1) A reversible reaction

2) An elementary reaction

3) A chain reaction

4) None of these

e yremTer TR ITARHRAT Y FaicH afw T ¥ 3V Y, ae AT :
1) wer o rfafsan

2) ueh URTHS TR

3) ue s it

) g A S TG

Ques # :98

Which of the following is Inter System Crossing ?
1
'S1 —So

YS,—»S;

T Ty



IT— T,
4) Sl _""Tl

Ques # :99

Which one the following excited state has a long life ?

1) Sl
2) 52

2) 52
3) Tl
4) T2
Ques # :100

Radio carbon dating was developed by ?



1) M. Curie

2) M. Calvin

3) H. Becquereel
4) W. F. Libby
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